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The triangle PQR has co-ordinates P(-1, 1), Q(1, 1) and R(1, 2).

(a) Rotate triangle PQR by 90° clockwise about (0, 0).
Label your image P'Q'R'. [2]

(b) Reflect your triangle P'Q'R' in the line y = − x .
Label your image P''Q''R''. [2]

(c) Describe fully the single transformation which maps triangle PQR onto triangle P''Q''R''. [2]

Question 1
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(a) Describe the single transformation which maps ABCD onto A' B' C' D'. [3]

(b) A single transformation maps A' B' C' D' onto A" B" C" D".
Find the matrix which represents this transformation.

[2]

Question 2
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On the grid on the next page, draw the image of PQRS after the transformation represented by BA.
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Question 3
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(a) Describe fully the single transformation that maps triangle A onto triangle B.

[3]

(b) Find the 2 × 2 matrix which represents this transformation. [2]

Question 4
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(a) Describe fully the single transformation which maps triangle A onto triangle B.

[2]

(b) On the grid, draw the image of triangle A after rotation by 90° clockwise about the point (4, 4).
[2]

Question 5
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Typewritten text
The single transformation which maps triangle A onto triangle B is a reflection
with the mirror line the line of equation y = x, represented on the figure below in
green. The distance from each point of the object and corresponding point of the
image to the mirror line is equal. The distances are also perpendicular on the
mirror line.



Draw the shear of the shaded square with the x-axis invariant and the point (0, 2)  
mapping onto the point (3, 2).

[2]

17 (a)

Question 6
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(i) Draw the one-way stretch of the shaded square with the x-axis invariant and the
point (0, 2) mapping onto the point (0, 6).

[2]

(ii) Write down the matrix of this stretch.

[1]

(b)

Question 6

For more help, please visit our website www.exampaperspractice.co.uk

Page 7

Iyan
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x-axis invariant – so the x coordinates of each point remains the same while the y
coordinates change, parallel to the y-axis.
Point (0, 2) is mapped onto point (0, 6), therefore, the sides are stretch in the vertical
direction by 3.



0

2

1

3

5

4

6

9

8

7

y

11

10

x
1 2 3 4 5 6 7 8 9 10 11 12

A

B

Describe fully the single transformation that maps triangle A onto triangle B. [3]

Question 7
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M(Y) is the image of the shape Y after reflection in the line x = 2.

On the grid, draw MT(A), the image of shape A after the transformation MT. [3]

Question 8
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(a) Describe fully the single transformation that maps triangle A onto triangleB.

[3]

Question 9
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Draw the image of shape A after a translation by the vector [2]

Question 10
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(a) Describe fully the single transformation that maps triangle S onto triangle T.

[2]

(b) Find the matrix which represents the transformation that maps triangle S onto triangle T.

[3]

Question 11
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When we join the corresponding vertices of triangles S and T, the lines meet at the origin (0,0).
The distance from (0,0) to a vertex of triangle T is half the distance from (0,0) to a
corresponding vertex of triangle S.
This suggests that the scale factor of the enlargement is 1/2.



Find the 2 × 2 matrix that represents a rotation through 90° clockwise about (0, 0). [2]

Question 12
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17 (p, q) is the image of the point (x, y) under this combined transformation.

(a) Draw the image of the triangle under the combined transformation. [3]

(b) Describe fully the single transformation represented by [2]

Question 13
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